





11

17

10 15

17

12
35

m

N o = o M M



™

- = M <« «N

10
11
12

13

14

N < O N 1O -

14
15
16
17

18
19
20

35



56

35

27

10
11
13
15
16
21
22
25
26
27












18

40

14




18

56

-C-A

56

16

P plan -~D do -C c h k ¢ A action

2

PDCA

or

40

56

18







14

5-3-1

10



5-2-1

334
51-2
51-2

11

17




12

32




13

10




14

12

11




15

12




10

8.6

3)

4)

HP

16

10

13

14




15

21

17



11

17

1-2-3

18

15




12

19

15

16




okm

20

17

2 020

ki



13

( 3-3-1

20

17

14

21

18




15

31-2

14 19

16

18

3-3-1

22

13.2ha)

20

( 5.0ha)




17

11

3-3-3

17

21

18

23

22




19

16

23

20

24

24




21

25

17 10
18
24
( 2-3-1
3-2-2 )
22
14 26
P.
( 3-1-2 )

25




23

18

14

18

26

11

20

27 28




24

j-com

29

25

4-2-3

27

30




26

31

31

56

17
17
17
17

28



O O
SN
<+ <

29



13

30

33




	パブコメ表紙.pdf
	パブコメ回答①.pdf
	パブコメ回答②.pdf
	パブコメ回答③.pdf

